ECE473 ' ' Quiz 4 Oct 27, 2008

Name: \<:Ei\(

Consider the schematic and code snippet below. The function of the circuit is to
display the buttons pressed on the bar graph display. No debouncing is reguired.
Switches are to be checked (read) every 1/128 sec. Timing diagram is to be
followed in regards to data transmitted and received (order and logic level). a1l
the setup is done in main(). All processing of the data is done in the
timer/counter zero ISR. SPI is not using interrupts.

Fill in the code below:
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}//ISR

main () {

DDRB |= Pxd7 3 // bk b is odrpdt mooe, Sclkd MOST oo
PORTB |= (hx@d | // 55N is 'm':-l-farllj Ore

//setup TCNTO0 for overflow interrupt_at 128hz rate with 32khz osc, normal mode
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//setup SPI: master mode, 8Mhz sclk, MSB first, clk starts low

SPCR |= (4<¢ SpE) | (_1_4.4 W\ST(Q j~> (¢X S@)

sesR k (decspioanys _ . o (@« Ba)

sei(); //enable global interrupts .
while (1) {} //loop forever
}//end main
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